EIEE [=]
[=]i3n

QB365 - Question Bank Software

SET-1
Series BVM/2 cone-59/2/1

& A,

Roll No. Efiﬁw‘_ﬁg@ﬁl Wm i =

Candidates must write the Code on the
title page of the answer-book.

FIA AT WA TP IA-F I GGA I 19 2 |

-9 H glfed g9 i AR U MU hig T I B AR ok GE@-I8 W
fad |

FUAT SF B A 6 30 T H 27 9% F

FHIAT T T I TTEAT I[E T A Uged, T T shAlTeh 1avd ford |

T Y-UA I UG o foTC 15 fiFe o1 T fomn e 7 | g9 o foar gatg
H 10.15 o fopan S@M | 10.15 91 8 10.30 S5 G SB had TH-IH hl TG
3T 39 A9 & R o IT-YfEdehl T g 3T g1 fere |

Please check that this question paper contains 19 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

FeiRa @& : 3 w92

Time allowed : 3 hours

NECiGACRIC)

POLITICAL SCIENCE

ST 37 : 100
Maximum Marks : 100

159/2/1 QB365 - Question Bank Software P.T.O.




EIEE [=]
[=]i3n

QB365 - Question Bank Software

HTHTT (3397

(i)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

qut go7 7T & | 3 F7-77 § FT 27 97 & | F97-97 qier @vel g
fayifsa & 1

GUS 37 § Y7 G&IT 1 -5 7% JAF 97 Uk 376 1 & | JAF 97 & FH
20 vsg] @ 311 757 &7 05T |

GU8 § H Y97 &I 6 - 10 7% Iod% 97 g 3hl #7 & | Icodh J97 &1 I
40 52 G 37feres 787 &1 =IeT |

GUS T § J97 &7 11 - 16 TF I9% I3 AR 3H &1 & | Id% J97 &7 I
100 55 @ 37f% 787 &7 T30 |

GUE 7 7 Y97 G&IT 17 - 21 T % J97 el 311 &l & | Ileh J97 T I
150 s3] @ 3718 757 &1 T30 |

G 7 § ¥o7 gEgr 21 HARE W YR ¥4 & | $EF I I
ITR-YicraT 7 free |

GUS T § Jo7 &7 22 — 27 b I9% Y9 D: bl HT & | I9F JI7 HT I

150 155 @ 3718 757 &1 T30 |

General Instructions :

)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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Qs A
SECTION A

‘T ee T 379 T hifT | 1
Jreran

“aTeie AT o GEF Ig¥T hl TS HITT | 1
Explain the term ‘Hegemony’.

OR
Explain the main objective of the ‘Marshall Plan’.

frafafaa # & ®H-81 Haa TTe-Fue age & wed ¥ @ 787 7 ? 1

(i) 39 3MEeH 4 79 TIad ¢ ol T2 ¥ STEL T h1 aLehl G |

(i)  9Ra ! Te-fderar <1 fifd 7 a1 TR off 3T & g |

(iii) WA 1 Te-fue Hifa 7 vra = f&di & wed g wgrRa A |

(iv) @ifoed 99 o @19 B 9y W’ gEaieR ek [e-Mie Tgier Sl A9
M o fofu v shi =i < S |

Which one of the following statements is ‘not correct’ about the
‘Non-aligned Movement’ ?

1) It suggested to the newly independent countries ways to stay out of
alliances.

(i1)  India’s policy of non-alignment was neither negative nor passive.
(iii) The non-aligned posture of India served its interests.
(iv) India was praised for signing the treaty of friendship with USSR to

strengthen NAM.
TR <hl T&TT o ToTU SRR = ool fohell Ueh STauisd™ d&em &1 9™
fafey | 1
JAUaT
TS QM ST o 99 Tdd ¥ o T Wel fohdl U gram i AN i
ISR HIT | 1

Name any one international organisation that campaigns for the

protection of human rights.
OR

Highlight any one security challenge faced by the newly independent
countries of Asia and Africa.
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ot famadt i 9Ra §9 6 AW % fT SER qed i e F1 e
HINT | 1

Evaluate the role played by Sardar Patel towards the integration of the
Princely States with India.

“Toifaer Tl 9 Tadd ATCIAH! . shl SATLROT bl T T | 1

Explain the concept of “Non-Party Movements”.

Qs d
SECTION B

Tiferd 9 R TYh T AR 6l Toemamrsti i tsh-ush faRivar &1 eor@

T | 1+1=2
AT

fvger AR Jorel! § gER @ % fow sehere (F.UA.HLEA.TELL) g TEaTfaa

foregl g guwi =1 Ieorg i | 1x2=2

Mention one characteristic each of the ideologies of the USSR and the
USA.

OR

Mention any two reforms of the global trading system proposed by
UNCTAD.

Ife e Te-ferar < AHifa 1 W 7 dar, @ fova worifa @ w=n afeq
§3T Bl ? 2
areran

qRA 4 1968 1 THTY] ATAR Al (TH. 9., ) T gEAeR T § Fi $hR fha1 2 2

What would have happened to the world politics if India had not
propagated the policy of non-alignment ?

OR

Why did India refuse to sign the Nuclear Non-Proliferation Treaty (NPT)
of 1968 ?

“ardt-feelt T o Afge T AT AT @ 1 9 ke ok g H
qeh ST | I1x2=2

“Anti-arrack movement is also considered as a women’s movement”.
Support the statement with two arguments.
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$I3 & BRI IR KT 2 319 1969 H gT HU qrdl & faurem & fag
IR 9Hd § | 1x2=2

HAAAT

1975 H TN T AT § WA <hl ST g0 9Rd T ki3 2 918 IR
i | 1x2=2

Highlight any two reasons that you think are responsible for the split in
the Congress Party in 1969.

OR

Highlight any two lessons learnt by the people of India from the
Emergency imposed in 1975.

T A qo TN B H fg T aet @ svefyol firems i §><4=
TTYH A’ &Y ‘B’
(a) Tode! STEIeH (i) A1 hT ATUHRR
(b)  cfera o (i) 3Ty W
(¢ arE-feft smgeH (i) - SfcTd Wewrd o foreg wo
(d)  worgL fohe Wik Wed Al (i) JTepldeh FETEHT W T
TG T TSR

Match the facts given in Column ‘A’ with those in Column ‘B’ in a
meaningful manner.

Column ‘A’ Column ‘B’
(a)  Chipko Movement (i)  Right to Information
(b)  Dalit Panthers (i1)) Andhra Pradesh
(c) Anti-Arrack Movement (iii) Fight against discrimination on

the basis of caste

(d) Movement of Mazdoor (iv) Right of Local Communities on
Kisan Shakti Sangathan natural resources
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T us |
SECTION C

AT F9 I Teh JHEICA & e S aTe! Heh! fohral =R IRkl bl
ST HIT | Ix4=4
3teran

1971 § STATey <hl T o foiy Iaeerlt gitfeafaat i samean $hifsu | 4

Explain any four strengths of the European Union that make it an

influential regional organisation.

OR

Explain the circumstances responsible for the liberation of Bangladesh in
1971.

T Hih HE@qUl ST TS o &9 H TYh Teg. Rl YRRl 1 The
HIFTT | 4

Assess the role of the United Nations as the most important international

organisation.
Ifeges TSI 1 &1 o aTell Taierer greell foheal =R foranedt <t samen
HfoT | Ixd=4

Explain any four environmental concerns that have become issues of
Global Politics.

1959 § Tmfud “saqa urdl” <hi fomamumn i el Ir fomiwareti =1 aviH

HIT | Ix4=4
reren

1920 € TRt 1952 H §T YRA & YW 3T G doh HEYE U1l 3% 3feaT I

formeam # o1e aftedHt 1 guH i | 4

Describe any four features of the ideology of “Swatantra Party” founded
in 1959.
OR

Describe the changes that took place in the ideology of the Communist

Party of India from 1920 to the first general elections in India in 1952.
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3 uitfeafaat =1 favaww hifvie g 3 1975 9 <Nfva smaaessa & fou
IR g4 @ | 4

Analyse the circumstances that you think were responsible for the

declaration of Emergency in 1975.

R ! fager fifd S9M @ a1 § 9RA & U YW W, O 18E

&1 yftrept w1 FuH HIT | 4
AT

TAAAT o UYETq WG hi faesr Hifa st guifed s aret fohedl TR el 1 Jui

IS | Ix4=4

Describe the role of the first Prime Minister of India, Jawaharlal Nehru,
in formulating and implementing the foreign policy of India.

OR

Describe any four factors that influenced the foreign policy of India after
independence.

T ue g
SECTION D

f= fou U s w1 eEyEs TeaEd hive o fefdfed Tl % W
fefau
TATS ool hl G STl Hl HA G T foRm T | T

Tt & @red 3 stfeerat o TS § Ug U | e o, ES o §TR
T 3T T.... | 39 dih, Fsietor 3 3 3rfyes fowmareti i S+
feam |

() R e g = At R 2

(i) GehHl Tl < gaiftq 3 @ T h 3N R geha faan 2

(Gii) @ 319 Trsitentor <kt anfefes Aifd o1 gmea = 8 a1 iy 2 s9a
IR o 98 H g Gl S doh [IRaU | 14242=5

AT
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f= fou MU Sreaw w1 eyHgEs T Hife ot ffafad ywl % 3w
farfew
Te-fue oo s g & S TR ALl A dTe <Y W A
9 | ey srcer U wfier sty w1 ‘Steq faenfid 2w W@
Tt et o | 39 29 % Ay ge gt i w9 & @R saer fashm
T qAT A FaT Bl T T IR Y oft | 9T 90 I AT
% foTere @ oft onfeles o wewqul on | /iR fehrss for@ & 15 o
G2l gl § 3TTE 981 1§ Tehdl |

(i)  3d Jg 1A o GUH Te-FUE e (NAM) o Tohegl g T€ATaeh @il
% - fofe |

(i)  3Teq forshfird 2@l % Ml <l T § S o forq iE a1 adish gy |
(ii) ‘feoprs faemm® Y sraumon =1 Toee HIfST. | 1+2+2=5

Read the passage given below carefully and answer the following

questions :

The old system of social welfare was systematically
destroyed. The withdrawal of government subsidies pushed
large sections of the people into poverty. The middle classes
were pushed to the periphery of society..... Besides,

privatization led to more disparities.
1) What is meant by government subsidy ?

(ii) How did the withdrawal of government subsidy lead the

people into poverty ?

(iii)) Do you support or oppose the policy of privatisation ? Support

your answer with any two suitable arguments.

OR
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Read the passage given below carefully and answer the following

questions :

(i)

(i1)

(iii)

The non-aligned countries were more than merely
mediators during the Cold War. The challenge for most of the
non-aligned countries — a majority of them were categorised as
the Least Developed Countries (LDCs) — was to be more
developed economically and to lift their people out of poverty.
Economic development was also vital for the independence of
the new countries. Without sustained development, a country

could not be truly free.

Name any two founder countries of Non-Aligned Movement
(NAM) during the Cold War period.

Suggest any two methods to lift the people of the Least

Developed Countries out of poverty.

Explain the concept of ‘sustained development’.

18. R fu U Sreamor w1 eyHyds steEa. i ot fefafaa g % @
fefiau -

i)
(ii)

(iii)

597211

RIS Se 8H L& & aR H Ugd A1 GAd § dl gHW
AT e Sl URuRE Hulq U geem i uRom § B R,
Rroeht dag G oAl % @Al ¥ & | FL&TT I 39 JHR o Wl hl
GId I3 GEU o BIAT &, S 8= A sl gehl Goht HUAT, Tl
3R &Rl T@SAT o g Hodl o 7T @Al U1 il & |

TSI TR | R AN 8 2

FRET <! qREITEh GROT Shi SATEAT hiTrT |

forell gat Q91 | gg % @A 1 I o7 7q IS & ik AT |
3T
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f= fou U st w1 eamyde TerEd e s frffea wEl % S
faf -

(1)
(ii)

(iii)

I i T o foar gean ufeg f G oA 7 |

e aiwg <l 9o e fOR Wl 7 SEfh 9w Usg 99 6l 3
YT H Ael sl T&I GF ¢ 8 | ARd I HEAT & Toh 399 el
uftwg % wfifificayees afa & a1 58 2 | wia 1 ds 7 T aftg
1 fIEar w1 R 98 sorer faffegers grft ofk 38 fava-fowett o
SaTeT wHeH e |

e ufteg 1 TEET i TR’ =1 hat T 2

e qitwg 1 feR 95T 4 38k TifHiucagas aia &l S 71+

TETS © ?

e uitwg # foasmrasfiar <uni <l gffehr & aR § 9Ra & gfseeni

i Tse T |

1+2+2=5

Read the passage given below carefully and answer the following

questions :

(i)
(i1)

(iii)

Most of the time, when we read and hear about
security we are talking about traditional, national security
conceptions of security related to dangers from military threats.
The source of this type of danger to security is another country
which, by threatening military action endangers the core values

of sovereignty, independence and territorial integrity.
What is meant by national security ?
Explain the traditional notion of security.

Suggest any two methods to respond to the threat of war

from another country.

OR

QB365 - Questiorw Bank Software




QB365 - Question Bank Software

Read the passage given below carefully and answer the following
questions :

(1)
(ii)
(iii)

One of India’s major concerns has been the composition
of the Security Council, which has remained largely static while
the UN General Assembly membership has expanded
considerably. India considers that this has harmed the
representative character of the Security Council. It also argues
that an expanded Council, with more representation, will enjoy
greater support in the world community.

Why has the composition of the Security Council been said to

have remained ‘static’ ?

How has the static composition of the Security Council

harmed its representative character ?

Explain India’s view about the role of the developing countries

in the Security Council.

19. = fu Tu Ao w1 eAHgEe deEE Hifoe 3t fEfiiRed s 6 IW
feftaw .

(1)
(ii)
(iii)

39 YehR SIgEi1d SHA JUMTCAl <1 T (& BT ... | AN HEg

T gHI g THITae gall o Iy @ 8 | g 1989 % &g fereht
ff T I 2014 T, Al T H TIL SgHT I 781 g7 | 38 g
¥ T3EYH FEHRI I T E BT |

2014 % Tl HHT AT H {8 TSHITTH G ol T TGAT ITed T 2

ek foam | TgaeT THRT 1 g T&F T HiH-Hl 8 ?
WRA ! SEEeNd ST % feheal QI o1 foetyor i |

1+2+2=5

Read the passage given below carefully and answer the following
questions :

(i)
(i1)
(iii)

597211

Thus began an era of multi-party system ... .Our
Parliament always had representatives from several political
parties. But after 1989, no single party secured a clear majority
of seats in Lok Sabha till 2014. This development initiated an

era of coalition governments at the Centre.
Which political party won a clear majority in the Lok Sabha
elections in 2014 ?

In your opinion, what are the two main problems of coalition

governments ?
Analyse any two merits of the multi-party system in India.
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20. = feu MU HET H wAEyEs e Hifvw qun Frafafad g % S
%I'F@'Q:

() 39 g H g T A (IFR) T8 " 1 UidHe g,
IR qU AW fofaw |

(i) I FS 1 GEEE HepraH i RN § Hicieht o Aqcd % THE M
et gfaen i s T |

(Gii) ST To9 hl 39 guE 4 e & oA fawE@ @l hE gwifad

fomam 2 1+2+2=5
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Study the cartoon given below carefully and answer the following

questions :

S

(i1)

(iii)

Write the full name of the organisation represented by the tiger in
this cartoon.

Explain the dilemma of Sri Lankan leadership in trying to resolve
this ethnic conflict.

How did this ethnic problem affect the economic growth of
Sri Lanka ?
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Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1)  #ficieRT o Q AT TYEI o AW fAfEy |

(20.2)  *ficehT o ST TN I T HINT |

(20.3) ST "o hT 36 FHE | e o onfde fowE @t ha ywifad
fepar 2 1+42+2=5

(20.1) Name the two ethnic groups of Sri Lanka.

(20.2) Explain the ethnic conflict of Sri Lanka.

(20.3)  How did this ethnic problem affect the economic growth of Sri
Lanka.

21. WRa % fgu T ToHifos W@AERE (99 16 W), § 9 TS R
@, ®, ©, D v @ g e T 2 | AR @ T AEE F YR | A
TSl Sl ggEE IR IR ST ST-gfes # g @E W, TE Al T
SR T hH T@AT 9T FEEfYa AR, = & TS arfersht % w9 # ferfaw

TN <hl TS AR
&l -G

@)
(i)
(iii)
(iv)
)

graf-ed AT | TSI hl 911

() 98 TS e v a9 8 oo w1 fotig fomanm |

(i) 98 U= 59 1972 9 100 @ 1 L SR T |

(iii) 9% TST STaf IR HYfEe el 4 1957 § A9 TR a1 |

(iv) 1966 T &A1 731 TSF |

(v) 9% USH S WE AW % A SA FEHR G H JST A7 | Ix6=5
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In the given political outline map of India (on page 16), five States have
been marked as @), ®), ©), © and E). Identify them on the basis of the
information given below and write their correct names

answer-book with the respective serial number of the information used

and the concerned alphabet as per the following format :

Sr. no.

of the

information used

Concerned
Alphabet

Name of the
State

1)

(i1)

(iii)

(iv)

(v)

1) The State that resisted its merger with the Union of India.

(11) The State which was carved out of Assam in 1972.

(iii) The State where the Communist Party of India formed its

Government in 1957.

(iv)  The State formed in 1966.

(v)  The State related to Dairy Cooperative Movement under the name

‘Amul’.
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T 9. 21 & forw For question no. 21
U T {T-AHH (TS TR )
Outline Map of India (Political)
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FHETlcTigd Jo7 #acl gieanea gaemdEar & g, Jo7 ear 21 & €&H |

The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) TrE TS H ‘S A % HATd SH FERN HAGIeH TE §I A1 ?

(21.2) 1966 T ST T foheft weh TS w1 AW foafem |

(21.3)  BRA If=d & foh Q1 TSAT 1 HTTorR <ATH 53T 2

(21.4) 38 TSI o1 9W faRaw S&f 1957 § WRA™ wEgRe 9el 4 ot
HTHT TS |

(21.5)  TIGAT o AT YRA | ferad <2fl e 9 2 Ix5=5

(21.1) In which State was the Dairy Cooperative Movement under the
name ‘Amul’ started ?

(21.2) Name any one State which was created in 1966.

(21.3)  Which two States were benefitted the most by the Green
Revolution ?

(21.4) Name the State where the Communist Party of India formed its
government in 1957.

(21.5)  How many Princely States were there in India at the time of
Independence ?

Qs g
SECTION E
it SRt % Fopegl aR TR 1 ol HIRT | 1§><4=6
HAYAT
a1 Te-Fuear 6t fifq K foodl @ fomarett 1 aviw Hifse | g8 HAifa 3
fopE TR 31T Tod wed o fofu wRa <Y ggman i 2 4+2=6

Describe any four consequences of Shock Therapy.

OR

Describe any two features of India’s policy of non-alignment. How did this
policy help India to serve its own interests ?
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T Ok o ®9 § TAhH I=g hl foral =R faiarstt st Tose hifau | Iéx4=6

AYAT
9T H AThds hl TATHT hl Ufshan <Al sameat hifve |

Explain any four features of the U.S. hegemony as hard power.

OR

Explain the process of establishing democracy in Nepal.

wteRr sl 1@ W fore Al i arsht Wy srer-sten fedy i gwren
foreetyor Shifv |

tera
IRA T oRelleRt o USHITGeh, 3T AT, HTER{deh THET 1 IThaH

ST | 2x3=6

Analyse the concept of ‘Common but differentiated responsibilities’ of
States towards the protection of environment.
OR

Assess the political, economic and cultural effects of globalisation on
India.

TaAAd] oY & QNE, il U i Tsh M R foemumcs Taaed

ST WeH dTett, $8eh! fohral 9 faiyarsti 1 v hifse | 2x3=6

AT

g Shifd o I3 2 FehRIcHeh 3N &1 ThNIcHeh TRUMHT hl 0l hHIfT | 3+3=6

Describe any three features of the Congress Party that kept it as a social
and ideological coalition during the freedom struggle.
OR

Describe any two positive and two negative consequences of the Green
Revolution.
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1971 % AT H HIH 9T H TSR S G aed foheal @R el I

g Hifvre | Zéx4=6

HAAT

25 S[d, 1975 1 T I T T aTel T ATATAhIA ] ~ATIETd 38U h
T 9@ R g QT MU, S 1 foetyur hifg | 3119 38 it § el
T TEHA & ? 4+2=6

Analyse any four factors that led the Congress Party to a spectacular win
in 1971 elections.

OR
Analyse the justification given by the Government of India for declaring

National Emergency on the night of 25% June, 1975. How far do you
agree with this justification ?

I LSt 3R Al Sl SAFR S o UH g i alleh sy = @i

% ¢feh Sfted § g W A & | 2x3=6
JrqaT

T STRIETIST o WHIER 7 UST FGSdl i ST W& o his diF i

gATsT | 2x3=6

Suggest any three methods of agitation, to highlight your problems and
demands, which do not disturb the routine life of the people.

OR

Suggest any three methods to accomodate the regional aspirations and
maintain national integration.
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Section A

QL.

Ans

Explain the term Hegemony
OR
Explain the main objective of the ‘Marshall Plan

Hegemony is the military domination Economic power,political clout/influence
and cultural Superiority
OR

Objective of Marshal Plan was to provide financial aid to west European states
to revive Europe’s economy ,post second World war.

M

1M

p-37

p-52

Q2.

Ans

Which one of the following statements is 'not correct about the ‘Non-aligned
Movement' ?

() It suggested to the newly independent countries ways to stay out
of alliances.

(i) India's policy of non-alignment was neither negative nor passive.

(iif)  The non-aligned posture of India served its interests.

(iv)  India was praised for signing the treaty of friendship with USSR to
strengthen NAM.

India was praised for signing the treaty of Friendship with the USSR to
strengthen NAM

M

p-12

Q3.

Ans

Name anyone international organisation that campaigns for the protection of
human rights.

OR
Highlight any one security challenge faced by the newly independent
countries of Asia and Africa.

(i) Amnety International
(i) Human Rights watch
(iif) United Nations commission for human Rights (Any one)
OR
(i) Military conflict with neighboring countries
(i) Internal conflicts
(iii)  Security of borders
or Any other relevant answer (Any one)

1M

1M

p-95

P-104

Q4.

Ans

Evaluate the role played by Sardar Patel towards the integration of the
Princely States with India.

(i) Sardar Patel played a strong role by persuasion and military action to
get the instrument of accession signed by the princely states,to ensure
their merger with the Indian state.

M
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(ii) The present form of Unity and Integrity of the country is due to far
sightedness of Sardar Patel

Q5.

Ans

Explain the concept of “Non-Party Movements”.

Any movement led by Social organizations or students or any other group of
activitists is called a non-party movement if political parties are not allowed to
lead the movement.

M

SECTION B

Q6.

Ans

Mention one characteristic each of the ideologies of the USSR and the USA.
OR
Mention any two reforms of the global trading system proposed by UNCTAD.

USA followed the ideology of capitalism and liberal democracy,whereas USSR
followed the ideology of socialism and one party rule i.e communism.
OR

Reforms proposed by UNCTAD

() Give least developed countries(LDCs)control over their natural

resources.

(i) To obtain access to western markets

(iii)  Reduce cost of technology from the western countries.

(iv)  Greater role of LDC’s in the international economic institutions.

(Any two)

1+1=2

1X2=2M

p-3

p-11

Q7.

Ans

What would have happened to the world politics if India had not propagated
the policy of non-alignment ?

OR

Why did India refuse to sign the Nuclear Non-Proliferation Treaty (NPT) of
1968 ?

() It could have aligned with any Super Power along with other newly
independent countries.
(i) India would not have emerged as leader of newly independent
countries.
(iii) It could not have an independent Foreign policy.
(iv)  Cold war could have become more intense. (Any two)
OR

() India refused to sign NPT as it considered the treaty
discriminatory.
(i) India needed to counter the nuclear threat of the neighboring
countries
(Any other relevant point) (Any two)

1X2=2M

1X2=2M

p-66

p-04

Qs.

Ans

Anti-arrack movement is also considered as a women's movement”.
Support the statement with two arguments.

() Through this movement women raised the issues of domestic
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violence, customs of dowry, sexual violence and gender inegvilities.

(i) They demanded justice and removal of these practices; hence it is 1X2=2 p-137
also called movement of women’s empowerment.
Q9. | Highlight any two reasons that you think are responsible for the splitin the 1X2=2 p-91
Congress Party in 1969.
OR
Highlight any two lessons learnt by the people of India from the Emergency
imposed in 1975.
Ans
(i) Rigid attitude of the Syndicate. 1X2=2 p-5
(i) Presidential candidate was announced by the Syndicate without
consulting the Prime minister, Indira Gandhi.
(iii)  Syndicate assumed PM Indira Gandhi as puppet in their hand which
provoked her to revolt.
(Any other reason)
OR
Lessons of 1975 Emergency
() Denial of fundamental rights and curtailment of freedom-is
not acceptable to the people of India.
(i) People value freedom of press.
(iii)  People disapprove the excesses committed by state
authorities.
(Any other relevant point)
Q10. | Match the facts given in Column ‘A" with those in Column'B' in a meaningful | ¥2X4=2 p-118

manner.

Column ‘A’ Column'B
(a)Chipko Movement ()Right-to Information
(b) Dalit Panthers (1)) Andhra Pradesh

(c)Anti-Arrack Movement (iii) Fight against discrimination on the

basis of caste

(d)Movement of Mazdoor (iv) Right of Local Communities on
Kisan Shakti Sangathan natural resources
a (iv)
b (iii)
c (ii)
d 0)
SECTION - C
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Q11. | Explain any four strengths of the European Union that make it an influential
regional organisation.
OR
Explain the circumstances responsible for the liberation of Bangladesh in
1971.
() EU is the world’s biggest economy.
Ans (i) Its share of World trade is three times larger than that of USA 1X4=4 Pg 53
(i) Italso functions as an important block in WTO
(iv)  Two of its members are permanent members of UN Security Council.
(v) It has its own flag, anthem & currency.
(Any four)
OR
() Sheikh Mujib won all the seats in East Pakistan and secured majority
but government dominated by West Pakistan did not convene the 2X2=4 Pg71
assembly.
(i) Arrest of Sheikh mujib provoked violent protests.
(iii)  Thousands of people were killed by Pakistan Army which led to
migration of millions of Bengalis to India.
(iv)  India supported the demand of people of East Pakistan
Any other relevant point
(Any two)
Q12. | Assess the role of the United Nations as the most important international
organization.
() UN provides platform for discussing contentious issues and finding
Ans solutions. Pg 83
(i) It helps member states to resolve their problems peacefully. 4
(iii)  There are certain issues which can not be dealt with individually by
any one state.So states can come together to solve the issue.
(iv)  Helps to produce information and ideas about how to cooperate.
(v) Works for preventing the international conflict and to facilitate
cooperation among members states( Assess as a whole)
Q13. | Explain any four environmental concerns that have become issues of Global
Politics.
Ans (i)  Cultivatable area is not expanding.
(i) Scarcity of safe drinking water
(iiiy  Deforestation 1X4=4 Pg 118
(iv)  Depletion of ozone layer, decline in the total amount of ozone.
(v) Global warming
Q14. | Describe any four features of the ideology of "Swatantra Party” founded in 1X4=4 Pg 41

1950.
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OR

Describe the changes that took place in the ideology of the Communist Party
of India from 1920 to the first general elections in India in 1952.

Features of Ideology

() Government should be less involved in controlling the economy.
Ans (i) Prosperity comes only through individual freedom. 1X4=4 Pg 37
(iii) It was against the centralized planning nationalization and public
sector.
(iv)  Itwas against the policy of NAM.
(v) It was in favour of having good relations with US.
OR
Changes in the ideology of the communist party 1920 to 1952 —
e In 1920, the communist party drew inspiration from Bolshevik
revolution in Russia.
e During second World war Communist party supported British whereas
earlier they worked from within the fold of Indian National Congress.
e After Independence, initially communist Party encouraged violent
uprisings but later abandoned the path of violence.
e The single united communist party faced major spiltin 1964 due to
ideological rift between leaders following soviet and Chinese ideology.
Any other point ( Assess as a whole)
Q15. | Analyse the circumstances that you think were responsible for the
declaration of Emergency in 1975.
e Public unrest and agitation in Bihar and Gujarat due to rise in prices,
Ans unemployment and corruption. 1X4=4 Pg 104
e Judgement of the Allahabad High Court against Mrs Indira Gandhi.
e Fear of loosing the Prime Ministership in the wake up of Allahabad,
High court judgement.
e Anti Government call by JP at Ramilla Maidau.
e Non democratic advice to Indira Gandhi.
Analysis of the given facts is expected (Any other Point)
Q16. | Describe the role of the first Prime Minister of India, Jawaharlal Nehru, in
formulating and implementing the foreign policy of India.
OR
Describe any four actors that influenced the foreign policy of India after
independence 4 Pg 67
Pt. Nehru was an influential leader
Ans . He advocated and followed the policy of Non alignment.
. He was for preserving the sovereignty of India.
° He was for the economic development hence required help from
both the blocs.
° Was against to join any alliance.
Evaluate as a whole
OR
(i)  Policy of Non alignment ( to be explained) 1X4=4 Pg 67 -
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(i) Afro Asian unity
(iii)  Conflict with Pakistan and China
(iv)  Indiais support to the UN initiatives
(v) Constitutional commitment to maintain and promote international
peace
(vi)  Panchsheel
Any other point
(Any four)

72

SECTION - D

Q17.

Ans

Read the passage given below carefully and answer the following questions :

The old system of social welfare was systematically destroyed. The
withdrawal of government subsidies pushed large sections of the people into
poverty. The middle classes were pushed to the periphery of society.....
Besides, privatization led to more disparities.

() What is meant by government subsidy ?
(i) How did the withdrawal of government subsidy lead the people
into poverty ?

(iii) Do you support or oppose the policy of privatisation ? Support
your answer with any two suitable arguments.

OR
Read the passage given below carefully and answer the following questions :

The non-aligned countries were more than merely mediators during the Cold
War. The challenge for most of the non-aligned countries - a majority of them
were categorised as the Least Developed Countries (LDCs) —was to be more
developed economically and to lift their people-out of poverty. Economic
development was also vital for the independence of the new countries.
Without sustained development, a country could not be truly free.

(i) Name any two founder countries of Non-Aligned Movement
(NAM) during the Cold War period.

(i) Suggest any two methods to lift the people of the Least Developed
Countries out of poverty.

(i) Explain the concept of ‘sustained development’.

(i) Economic help provided to a particular group of consumer in the
form of reduced rate of the commodity or reduced rate of interest
or rent as compared to prevailing market rate .

(i) a) People have to pay more for goods and services which reduces
their affordability.

b)Cost of tools, implements machines, fertilizers increase
consequently.The people are not able to purchase the required
items for their livelihood .

Any other
(iii)  candidate may support or oppose policy of privatization. Their

1X2=2
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answer sheet should be supported by two suitable arguments
OR
() India ,Egypt ,Yugoslavia (Any two)
(i) a) Cheap cost effective Technology should be provided to LOCs.

b) Rapid industrialization of LOC be supported by developed
countries.

c) Spreading education and providing employment opportunities.
(any two)

(i) Sustained Development - is a long lasting environment friendly
development which doesn't harm the interest of the future
generations.

1X2=2

1X2=2

Q18.

Ans

Read the passage given below carefully and answer the following questions :

Most of the time, when we read and hear about security we are talking
about traditional, national security conceptions of security related to dangers
from military threats. The source of this type of danger to security is another
country which, by threatening military action endangers the core values of
sovereignty, independence and territorial integrity.

(1) What is meant by national security ?
(i) Explain the traditional notion of security.

(iif)  Suggest any two methods to respond to the threat of war from
another country.

OR
Read the passage given below carefully and answer the following questions :

One of India's major concerns has been the composition of the Security
Council, which has remained largely static while the UN General Assembly
membership has expanded considerably. India considers that this has
harmed the representative character of the Security Council. It also argues
that an expanded Council, with more representation, will enjoy greater
support in the world community.

(i) Why has the composition of the Security Council been said to have
remained 'static’ ?

(i) How has the static composition of the Security Council harmed its
representative character ?

(iii) Explain India's view about the role of the developing countries in the
Security Council.

(i) Security is absence of threats.

(i) Under traditional security, the greatest threat to a country is from
military war, attack on sovereignty and threat to lives of the
citizens.

(iii)

2X1=2

Pg 101
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e To have a strong army equipped with weapons
e To raise the cost of the war so that the rival party may not

dare.
1+2+2
e Negotiations for peaceful solution =
Any other method 1
Any two
OR

(i) Composition of Security Council has been static due to rigid attitude | 1X2=2
of the five permanent members( Big powers)

(i) a) Itdoesn't represent Africa ,South America and even doesn't
adequately represent Asia .

b) alarge population of the world is not represented.It makes
security council non-democratic in character
Any other relevant point (any two)
. . . ) . 1X2=2

(iii)  a) India wants their representation in the security council as
permanent member
b) favours its expansion to adequately represent present realities

of the world ie more developing countries
Any other relevant point (any two)
Q19. | Thus began an era of multi-party system ... ,Our Parliament always had
representatives from several political parties. But after 1989, no single party
secured a clear majority of seats in Lok Sabha till 2014. This development
initiated an era of coalition governments at the Centre,
(i) Which political party won a clear majority in the Lok Sabha elections
in 20147

(i) In your opinion, what are the two main problems of coalition

governments ?

(iii) Analyse any two merits of the multi-party system in India.

Ans ) ) 1

() BJP (Bharatiya Janata Party )

(i) Main problem was to satisfy the different factions and parties in the | 2
coalition- which made the government weak and always ready to
compromise.

(iii)

e Regional parties gets an opportunity to be in power. 1X2=2
e Regional aspirations get fulfilled.
e Get an experience of the government at the union level
(any two)
Q20. | Study the cartoon given below carefully and answer the following questions:

0B365 - Question Bank Software




QB365 - Question Bank Software
STANDARDISATION OF MARKING SCHEME

SET -1 CODE NO 59/2/1

(1) Write the full name of the organisation represented by the tiger in
this cartoon.

(i) Explain the dilemma of Sri Lankan leadership in trying to resolve
this ethnic conflict.

How did this ethnic problem affect the economic growth of Sri

Lanka ?

S
Ans () Liberation Tigers of Tamil Elam. 1 Pg 73
(i) It was a difficult task to balance Sinhalse and Tamil group both .
e Sri Lanka followed the policy of majortarianism and Tamil felt 2
neglected.
e Itwas just askill to keep the balance. (Evaluate asa whole)
(i) 2X1=2
e Inspite of ethnic conflict Sri Lanka success fully controlled the
rate of growth of population.
e Had the highest per capita Gross Domestic Product GDP.
e Could liberalise the economy.
e Maintained the democratic system.
VISUALLY IMPAIRED CANDIDATES ONLY 1+2+2=5
(20.1)Name the two ethnic groups of Sri Lanka.
(20.2) Explain the ethnic conflict of Sri Lanka.
(20.3)How did this ethnic problem affect the economic growth of Sri Lanka.
ANS (20.1) Sinhalese and Tamils
(21.2) The principle of equality has not been adopted in Sri Lanka as itis major | 1+2+2=5
itariansim.
(21.3) Control of population
Q21. | Inthe given political outline map of India (on page 16), five States have

been marked as A, B, C, D and R. Identify them on the basis of the
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Ans

information given below and write their correct names in your
answer-book with the respective serial number of the information used
and the concerned alphabet as per the following format :

i)The State that resisted its merger with the Union of India.

(i)The State which was carved out of Assam in 1972.

(iii)The State where the Communist Party of India formed its Government in
1957.

(iv)The State formed in 1966.
(v)The State related to Dairy Cooperative Movement under the name 'Amul.

—
‘Sl" no. of the Concerned | Name of the
information used | Alphabet State

(D

(ii)

(iii)

(iv)

(v)

(i) D — Manipur
(i) E — Meghalaya
(i)  A- Kerala
(v)  C-Haryana
(v) B — Gujarat
VISUALLY IMPAIRED CANDIDATES ONLY

(21.1) In which State was the Dairy Cooperative Movement under the

name 'Amul’ started ?

1X5=5
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Ans

(21.2) Name any one State which was created in 1966.

(21.3) Which two States were benefitted the most by the Green Revolution ?

(21.4) Name the State where the Communist Party of India formed its
government in 1957.

(21.5) How many Princely States were there in India at the time of
Independence ?

21.1 Gujarat

21.2 Haryana/ Himachal Pradesh
21.3 UP and Punjab /Haryana
21.4 Kerala

21.5 565

1X5=5

SECTION - E

Q22.

Ans

Describe any four consequences of Shock Therapy.
OR
Describe any two features of India's policy of non-alignment. How did this
policy help India to serve its own interests ?
Consequences of Shock Therapy
() large state controlled industrial complexes collapsed
(ii) Valuable industries were undervalued and sold at throwaway prices
(iii) large scale value of ruble declined
(iv) old system of social welfare was destroyed
Any other consequence
OR

e Enabling new recognised countries to frame their independent foreign

policy.
¢ Not to join any military block NATO and Warsaw pact.

e Beable to express independent viewpoint on international issues.

= Non alignment policy allowed India to take international decisions

and stances that served the national interest.
» |t proved to be an act of balancing of power.

» |ndia could approach both the superpowers for National
interference interest Any two

4X1.5=

2X2=4

2x1=2

Pg 25

Q23.

Explain any four features of the U.S. hegemony as hard power.
OR
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Ans

Explain the process of establishing democracy in Nepal.

(i) US spends more on its military capability then the next 12 powers
combined.

(ii) Military dominance of US is based not just on higher spending but on
qualitative gap.

(iif)No power can match the US capability.
(iv) Irag invasion shows its capacity to conquer
Any other relevant point
OR
= Nepal was a Hindu Kingdom and then a constitutional monarchy.

= In 1990 King accepted the demand for a new democratic constitution
but democratic government could not survive longer and was.in
trouble.

=  There was a violent conflict between the maosit and armed forces of
king.

= |n 2002 the king abolished the Parliament dismissed the government
and limited the democracy in Nepal.

= |n 2006 there was a massive pro democracy protest led by SPA.

= Kingwas forced to restore the house of representatives dissolve in
2002.

= Transition to democracy is still under progress.

(Any four)

4x1.5=6

4x1.5=6

Pg 71
& 72

Q24.

Ans

Analyse the concept of ‘Common but differentiated responsibilities of States
towards the protection of environment.

OR
Assess the political, economic and cultural effects of globalisation on India.

Developed countries are of the opinion that every country is equally
responsible for the conservation of ecology but developing countries state that
economical degradation has been caused by the developed country so they
must take more responsibility

o Developing countries are in the process of industrialisation and should
not be made to bear the restrictions.

¢ Needs of the developing countries should be taken into account.

e Rio summitin 1992 gave the principles of common but differentiated
responsibilities .

On analysis it seems that this principle is justified and acceptable to one and
all( Evaluate as a whole)

OR

e Most of the IT professionals got jobs in the Silicon Valley of US and

4X1.5=

Pg 123

Pg 144
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other Nations.
e Quality of life and health enhanced in India.

o Traditional cultural was affected .Local Markets and small shopkeepers

were also affected.
e More FDI came to India.
e GDP growth rate has increased

any four

Q25. | Describe any three features of the Congress Party that kept it as a social and
ideological coalition during the freedom struggle.
OR
Describe any two positive and two negative consequences of the Green
Revolution.
3X2=6 Pg 36
(i) Congress was a party of diverse groups such as peasants and
Ans industrialists, urban dwellers and villagers.
(ii) Leadership of The Congress had expanded from upper class
professionals so agriculture based leaders.
(iif) Congress provided for internal opposition.
(iv) It accommodated revolutionary pacists, right ,left and all shades of
centre.
(v) Parties are having their own constitution were also allowed to exit
within Congress .
Any other relevant point. Any three
OR
MERITS
e Growth in the food grain production
. , . . 3+3=6 Pg 60
e Rich and large landlords were benefited and increased their income
DEMERITS
e Gap between poor peasantry and rich peasantry was visible .
e Itraised the middle class peasants.
¢ Regional imbalance also came into forefront.
e Rich peasants emerged political influential.
Q26. | Analyse any four factors that led the Congress Party to a spectacular win in

1971 elections.
OR

Analyse the justification given by the Government of India for declaring
National Emergency on the night of 25th June, 1975. How far do you agree
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with this justification ?

A (i) Simage of Indira Gandhi. 4x1.5=6 | Pg93
ns
(ii) Nationalisation of banks.
(iif) Abolitiontion of privy purses.
(iv) ‘Garibi hatao’ programmes/ slogan
(v) Early elections led to sympathy quotes for injustice done to Indira
Gandhi.
(vi) Defeat of official candidate for the post of President.
Any other relevant point any four
y P (any ) 4x1.5=6 | Pg 113
OR
(i) Frequently recourse to agitations. Protests and collective actions were
adversely affecting the life of common people.
(ii) Extra parliamentary politics was targeting the government for selfish
motives .
(iif) Movement launched by the opposition was distracting the government
from routine and administrative work
(iv) It was affecting the development of the country
Any other relevant point (any four)
Q27. | Suggest any three methods of agitation, to highlight your problems and
demands, which do not disturb the routine life of the people.
OR
Suggest any three methods to accomodate the regional aspirations and
maintain national integration.
Ans | Candidates are expected to suggest some measures based on the real life 1X 6=6 Unit 8

experience mark should be given for original thinking for example

(i) Procession can be held on holidays

(i) Silent Dharnas and protests can be held at the designated places.

(iif) Government should also provide all the facilities to the protesters and
also the place to have sit in dharnas

(iv) Banners /Hoardings /play cards should be used instead of slogan
mongering.

(v) different types of protest can be used as ringing Bell for a fixed period

on the house tops or whistle blowing at a fixed time for a fixed duration

(vi) Dharnas in small groups all over the state/ country can be at the other

method.
(vii) Any other innovative method that doesn't disturb the daily life of the
citizens
OR

(i) Use of media to raise the demands and plead for the regional
aspirations debates/ video talks /articles in the magazines /new items
/literature can be used.
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(ii) Regional parties and leaders can advocate the aspirations and seek the
cooperation of other leaders

(iif) Union government should not neglect the regional aspirations and
participate in all the debates and talks and put forward the government
and thinking

(iv) All demands and aspiration should be constitutional an unconstitutional
demands should be avoided
Any other innovative method (Any three)
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